
8

BT G sw 
[kg] 

d1 d2 d3 l1 l2 l3 l4 

30 3 10 40.0 85 28 16 45.0 M3 1.5 0.6 HTC-BT030-03-85-1-0-A 30819403 
30 4 12 40.0 85 28 12 45.0 M3 1.5 0.6 HTC-BT030-04-85-1-0-A 30819404 
30 5 13 40.0 85 28 8 45.0 M3 1.5 0.6 HTC-BT030-05-85-1-0-A 30819405 
30 6 14 40.0 85 37 10 45.0 M5 2.5 0.6 HTC-BT030-06-85-1-0-A 30819406 
30 8 16 40.0 85 37 10 45.0 M6 3.0 0.7 HTC-BT030-08-85-1-0-A 30819407 
30 10 18 40.0 85 41 10 45.0 M8x1 3.0 0.7 HTC-BT030-10-85-1-0-A 30819408 
30 12 20 40.0 85 46 10 45.0 M8x1 3.0 0.7 HTC-BT030-12-85-1-0-A 30819409 
30 14 24 40.0 85 46 10 45.0 M8x1 3.0 0.7 HTC-BT030-14-85-1-0-A 30819410 
30 16 26 40.0 85 49 10 45.0 M8x1 3.0 0.7 HTC-BT030-16-85-1-0-A 30819411 
30 18 28 40.0 85 49 10 45.0 M8x1 3.0 0.7 HTC-BT030-18-85-1-0-A 30819412 
30 20 30 40.0 85 51 10 45.0 M8x1 3.0 0.7 HTC-BT030-20-85-1-0-A 30819413 
40 3 9 49.5 120 28 16 70.5 M3 1.5 1.3 HTC-BT040-03-120-3-0-A 30781286 
40 4 10 49.5 120 28 12 70.5 M3 1.5 1.4 HTC-BT040-04-120-3-0-A 30781287 
40 5 11 49.5 120 28 8 71.0 M3 1.5 1.4 HTC-BT040-05-120-3-0-A 30781290 
40 6 12 49.5 120 37 10 72.0 M5 2.5 1.4 HTC-BT040-06-120-3-0-A 30757078 
40 6 16 50.0 160 37 10 111 M5 2.5 1.69 HTC-BT040-06-160-3-0-A 
40 6 16 50.0 200 37 10 152.5 M5 2.5 1.74 HTC-BT040-06-200-3-0-A 
40 8 14 49.5 120 37 10 72.5 M6 3.0 1.4 HTC-BT040-08-120-3-0-A 30757080 
40 8 18 50.0 160 37 10 111.5 M6 3.0 1.8 HTC-BT040-08-160-3-0-A 
40 8 18 50.0 200 37 10 152.5 M6 3.0 1.84 HTC-BT040-08-200-3-0-A 
40 10 16 49.5 120 41 10 73.0 M8x1 3.0 1.4 HTC-BT040-10-120-3-0-A 30757081 
40 10 20 50.0 160 41 10 113 M8x1 3.0 2.0 HTC-BT040-10-160-3-0-A 
40 10 20 50.0 200 41 10 154 M8x1 3.0 2.07 HTC-BT040-10-200-3-0-A 
40 12 18 49.5 120 46 10 73.5 M10x1 5.0 1.4 HTC-BT040-12-120-3-0-A 30757082 
40 12 22 50.0 160 46 10 114 M10x1 5.0 2.16 HTC-BT040-12-160-3-0-A 
40 12 22 50.0 200 46 10 155 M10x1 5.0 2.23 HTC-BT040-12-200-3-0-A 
40 14 22 50.0 120 46 10 71 M10x1 5.0 HTC-BT040-14-120-3-0-A 30858267 
40 16 24 50.0 120 19 10 71 M12x1 5.0 HTC-BT040-16-120-3-0-A 30858268 
40 18 26 50.0 120 19 10 72 M12x1 5.0 HTC-BT040-18-120-3-0-A 30858269 
40 20 28 50.0 120 51 10 72 M16x1 5.0 HTC-BT040-20-120-3-0-A 30858270 


